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QUESTION 1

Which FC SAN topology provides the best performance and scalability?
A. cascade

B. core-edge

C. full mesh

D. partial mesh

Correct Answer: B

QUESTION 2

Which row of items should you look up in the IMT (Interoperability Matrix Tool) when designing a NetApp Storage
Solution for a customer?

A. Host OS and patches, FC WWPN, Volume Manager, File System version

B. Host OS, iSCSI IQN, Volume Manager, Clustering

C. Host OS and patches, HBA driver, Volume Manager, File System, Clustering
D. Host OS, HBA driver, Host Memory and CPU Speed, File System, Clustering

Correct Answer: C

QUESTION 3

You are booting a NetApp storage system for the first time.In which order should the various components be powered
on?

A. any tape backup devices, disk shelves, network switches, NetApp controller heads
B. NetApp controller heads, disk shelves, any tape backup devices, network switches
C. NetApp controller heads, disk shelves, network switches, any tape backup devices
D. network switches, disk shelves, any tape backup devices, NetApp controller heads

Correct Answer: D
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QUESTION 4

A company wants to use jumbo frames in their Ethernet network.
They should set the packet size to which industry conventional value?
A. 1200

B. 1500

C. 9000

D. 12000

Correct Answer: C

QUESTION 5

At which storage object level is deduplication enabled?
A. Aggregate

B. Volume

C. Qtree

D. LUN

Correct Answer: B
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